DTOMEI . ....

Instructions manual

07/2006 M19K272

[EXPRENIE VQ35DE
Straight front pipe VQ35DE

Part Number

: (PV35) )
Application: 233 , V35 with the VQ35DE engine

English

3p






TOMEI
TOMEI

CAQ) O
\ { Y B s
M10x 15 ( M10x 15 ( ) 0
& =)
) O)
) B TOME

SIS



02

>

235 27.4N m(24 2.7kgf-m)]

343 39.2N m(35 4.0kgf-m)]

60 66N m(6.1 6.7kgf-m)]

A/E

40 50N m(4.1 5.1kgf-m)]

A/E

B (




A/F

02

02 40 50N m(4.1 5.1kgf-m)]

02
M18-P1.5

02

343 392N m(35 4.0kgf-m)]
60 66N m(6.1 6.7kgf-m)]

235 274N m(24 2.7kgf-m)]

343 39.2N m(3.5 4.0kgf-m)]




Notes




Installation of the production is to be carried out after the instructions are carefully read.

For further reference, compare this instruction sheet with the authentic Nissan Motor Corporation workshop manual.
After installation, keep this copy for future reference.

Be sure to give a copy of this instruction manual to the customer.

Thank you for the purchase of this TOMEI product.

The TOMEI straight front pipe is an effective exhaust component, which allows for a more efficient exhaust flow.
This component is being sold as an off road vehicle attachment and should only be used on close cirscuit cou
rses..

Kit Contents

Please confirm that your outlet pipe kit is complete.
Each package is label showing the guantity of each package.

Gasket A (2) Gasket B (2)
Between Straight front pipe Between Manifold
andanExhaust front tube. and Straight front pipe.
pm  ©
Flange bolt Flange nut Bolt smooth
M10*1.5 (8) M10*1.5 (8) Paste (1)
£ 3 =
r:xt__ j;l gq_{'__ - _{j
J' Main body of straight front pipe Blind bolt (2) Copper washer (2) Sticker (2)
= (Right/Left)
Note) In a set with Exhaust Manifold, Gasket B is not contained in a Kkit.

Tools required for installation
The following tools are necessary for the installation.

Tool kit for maintenance  Torque wrench Service instruction

& Caution

This product is only for vehicle use under a closed circuit and for public roads.
The technician for this installation must be a licensed mechanic, which holds a thorough understanding for installations..
Only install this product on the specific model as stated above. If installed on a different model, possible engine damage will
occur.
m Only use the proper tools during installation. If the wrong tools are used you risk possible injury.

& Warning

m [nstall this item when the engine is cold.
m Install all kit components of a possible engine fire may result.



1. Removal of Genuine catalyst converter

& The following descriptions are simple procedures to remove the factory catalyst converter.
Refer to the servicing instruction for a detailed description on each part.

1. Remove negative battery terminal.

2. Remove Rear oxygen sensor. Be sure to label the left and right O2 sensors

3. Remove the bracket between the catalyst convertor and transmissions.

4. Remove the catalyst converter.

2. Installation of TOMEI straight front pipe

Diagram for each bolt and gasket.
The components and hardware used is labeled below.

Exhaust manifold

ExRight bank

<Part of use accessory in kit and the tightening torque>

Exhaust front tube

<Normal use part and tightening torque>

Gasket A (between Mani straight front pipe)

Only when coming off

Flange bolt 235-27.4N m(24 2.7kgf-m]
Flange nut 34.3-39.2N m(3.5-4.0kgf-m) 60-66N m(6.1 6.7kgf-m)]
Copper washer Use when A/F meter etc. are not installed 40-50N m(4.1 5.1kgf-m)]
Blind bolt Use when A/F meter etc. are not installed

Gasket B (between straight front pipe and exhaust front tubes)

Please spread smoothing paste on to all bolts toprevent burning




Installation procedure
1.Remove rear O2 sensor from the orginal catalyst converter and install it in the straight front pipe.

Tightening torque rear Q2 sensor Front Page (The previous page )[40-50N m(4.1-5.1kgf-m]

Reference
When you do not install an aftermarket A/F meter, use the supplied copper washer and plugging bolt
This boss's size is M18-P1.5.

2. Using the supplied gasket, insert the straight front pipe, and attach it.
Exhaust manifold side
Attached gasket A (Ref: previous page )

Tightening the nuts to (Previous page )[34.3-39.2N m(3.5-4.0kgf-m)]
Genuine nuts will use(Previous page ) [60-66N m(6.1-6.7kgf-m)]

& Install it again on the stud bolt on the cylinder head side.Tightening torque 23.5-27.4N m(2.4-2.7kgf-m)
Exhaust front tubes side

Attached gasket B (Previous page )
Tightening the nuts to (Previous page )[34.3-39.2N m(3.5-4.0kgf-m)]

3. Attach the bracket between right and left catalytic converter transmission.

4. Attach a rear O2 sensor connector

& Install the coupler similar to the removed one in rear O2 sensor connector.

5. Reattach the negaitive battery terminal.

& Caution

Remove any dirt and grime when using it with oil etc. check your Front pipe.
To remove any unwanted material after the installation.

3. After installation checks
1Check to make sure that there are no interfering objects near the modified exhaust piping.

2.Start the engine, and confirm whether there is exhaust leakage

A Warning

Inhaling exhaust over a short period of time will cause injury. Please make sure your working area is well ventilated.
Make sure no obtrusive objects are in the way during engine running.



Notes

- 1N -



TOMEI POWERED ic.

1737-3 Tsuruma Machida-shi Tokyo 194-0004,JAPAN
Telephone +81-42-795-8411(main switchboard) /Facsimile +81-42-799-7851
URL:http://www.tomei-p.co.jp

e |If you have any questions in regards to the installation of this product, please contact your local distributor
or Tomei Powered in the above contact details.

OPEN: Monday - Friday (National holidays and public holidays excluded). 09:00AM - 18:00PM

- 11 -



TOMEI POWERED c.
Hilatt RE/T—F

194-0004
TEL
FAX
http:.//www.tomei-p.co.jp

733 VQ35DE

- 12 -

06

7

M19K272



